Dynamics
“MTH404” Grand quiz 2020 (Spring)

e —————

MTH0L Grand Quiz MTHEDA Quiz Start Time: 0608 PM, 12 July 2020

Question £ 1 of 20 ( Start tene: D6.08 18 PM, 12 July 2 Total Marks. |

The time taken by the particle to complete one
oscillation is called —.

Select the correct option

amplitude
O

time period
O -

frequency
o)

none of these
O




ol

Quoahon #10f 10 ( Stant ime 114243 AM. 06 Deoc (-mhm )())(l

moving in a circle is alwaysg---

Radial ¢ component of a paticle

lundefined




#3 of 10 ( Start time: 11:45:15 AM, 06 December 2020 )
branch of applied mathematics that deg

Is with the study of motion of 3 body without taking into consideration how the motion is caused js known as

pelect the comrect option

[-dyna\mlcs“i 72

e

fiuid mechanics

stion O ( Start ime 2074 M. 06 December 202 0)
Quest #4 of 10 ( Start 2. 11:46:47 AM_ 0

A particle is moving with velocity

s s 1
(32 + 45)ms
the normal component of velocity is —

Select the correct option







Peed ofthe particle will be —

comect option




#7 of 10 ( Start time- 1150 22 AM. 06 Dece

*mber 2020 )

is the position of 3 Particle attime t. then which of the following represents the velocity of the particle at tim
Select the comect option




- MTH404-Quiz No. 1

.'. . - . —
Question # 9 of 10 ( Start time- 115257 AM. 06 December 2020 ) I
Radial component of velocity is —-.»7

Select the comrect option

Question # 10 of 10 ( Start time- 11 5495 AM. 06 December 2020 )
if

be the velocity of the particle attime t then which ofthe fo

llowing is the acceleration of the particle attime t?

Select the comrect option




MTHA04 Geand Quiz MTHA0S Quiz Start Time: 0608 PM, 12 My 2020

Question £ 2 of 20 [ Sawt thne 0608 56 P 020 Total Marks

Direction of momentum is direction of object's—.

Select the correct option

mass
@)

acceleration
O

velocity
o)

frictional force
0




Question £ 4 of 20 [ Start tie D6 0M, 12 Tetal Marks

If a particle is moving with zero acceleration and it
starts with velocity 10m/s, then the distance traveled
in 5 seconds will be ---.

Select the correct aption

50m

o e




Question # 7 of 20 ( B Total Marks

If Force of magnitude 10N is acting on the particle of
mass 5kg, then the acceleration produced in the
particle is——--.

Select he correet option

2m/s2
0 /

10m/s2
O

5m/s2
&)

15m/s2
(@)




MTH404:Grand Quiz MTH404

Question £ 10 of 20 ( Start ime: 06:13:22 PM, 12 July 2020)

If & particle is mowving with constant acceleration of

Select the correct option

O




MTHEOE Grane Ounr MTHEO4

Total Marss

A particle of mass 10 kg is lying at a height of Sm.
Then the potential energy of the particle is—.
Take g=10m/s2.




Question # 13 of 20 { Start time I 0 PM. 12 July 2020)

The maximum distance covered by the particle
executing simple harmonic motion in either side of
mean position is called as .

Select the correct ogtion

amplitude

O J

time period
o)

frequency
o)

none of these
0




MTHAOA Grand Quiz MTHA04 Quiz Start Time 0414 P 12 July 202

Question # 1 of 20 ( Start time: 061608 PM, 12 July 2020 ) Total Marks

If the acceleration is 5m/s2 throughout the motion, the velocity-time curve will be

Seloct the correct option

parabola
O

circle
O

hyperbola
O

straight line
O

Question # 2 of 20 ( Stort time: 06 16:46 PM_12 July 2020)

If X Is the displacement of the particie at any time 1, and

then which of the following is the expression for the velocity of the particle

Select the correct option




MTHA04: Grand Quiz MTHA04 Quaz Start Time 061

Question # 3 of 20 ({ Saart tme 06 17 31 PM. 12 Juiy 2029 )

At mean position of pendulum, the potential energy of the pendulum is:

proe— =l
—
R
—
L
Setect the correct option

maximum
O

minimum
O

neither maximum nor minimum
O

none of these

O o




MTH404: Grand Quaz MTHA04

Question £ 6 of 20 ( Start Bme 06 20 34 PM. 12 July 2029)

the particle is

Select e correct option

20J
O

12 2ty 2009

Total Marks |

If force of magnitude 20N is applied to the particle and it covers a distance of 3m
in the same direction as that of applied force, then the magnitude of work done on

MTHASM Grand Qs MTHADS

Question # 20 of 20 | Mt e ]

time period

O —

amplitude

Q

cycle
O

frequency is reciprocal of —-—.




Question # 7 of 20 ( Start e 0621 41 PV 12 My

What force can change the
one second?

Select hw cortect option
1N
O

velocity of body of mass 1kg from 10m/s to 15

Total Marsy

m/sin




Total |

0, then which of the {

mawy

ai®

s true about the transverse comg

~
U

nent of a force In polar




MTHA04 Grand Quiz MTH404

Question # 12 of 20 ( Start ime 0624 44 PM_ 12 July 2020)

The rate of work done to the particle is known as—.

Select the correct option

power

O —

kinetic energy
O

momentum
O

none of these
O




MTHA04:Grand Quiz MTH404

Question # 13 of 20 ( Start time: 06:25.20 PM_ 12 July 2020)

Force acting on a body can change its—.

Select the correct option

kinetic energy
O

direction of motion
O

speed
O

all of the given

O "




MTHA0A Grand Quiz MTHA04 Dul2 Start Tiene: 0616 PM )

Question # 18 of 20 ( Start thiwe 06 29 09 P12 July 2000 ) 1

The rate of change of of a particle about a point O is equal to the torque
about O of the force on the particle.

Select the comect opbon

angular velocity
O

angular displacement
O

angular momentum
= C—
none of these
O




MTHA04:Grand Quez MTH404

Question £ 16 of 20 ( Start time: 06:20:08 PM, 12 Juty 2020 )

The space-time curve is a —— for a constant velocity.

Select the correct option

circle
O

straight line

(@) ,

parabola
O

hyperbola
O

MTHAOA Grand Quiz MTHADA Quiz Bhart Tima 0616 PM. 12 July

Question # 20 of 20 ( B1art time 0631 32 PM. 12 July 2020) Total

If the mass of the particle is doubled, then the gravitational force in the earth's
gravitational field

Select the corect option

is doubled

o—-o-’

is trebled
O

remains same
O

none of these

O




MIMECH Granet Ourz MMM

A particle of mass 3kg is moving with velocity 4ti+5j. The
force F acting on the particle will be-—.




MTHAOL Grand Quaz MTHA04 Duz Mart Tame 0625 PML 13 Moty 20

If the acceleration of a particle is zero, then which of the following
is true?

Setect e correct aglion

Distance traveled in each unit of time is constant
O ==Y

Distance traveled in each unit of time is increasing
O

Distance traveled in each unit of time is decreasing
O

None of the given

Q







MTHAG Grand Quaz MTHEO4

If 150N of farce is applied on a spanner of 10 cm to open a nut
then the length of spanner when the force applied on it is 60 N is—

Setect he rarrect agphen
25¢cm

o T

40cm
O

50cm




MTHAOL Graret Quaz MTHADA

Questian ¢ 1 of 20 fartt

If a particle

Vorsd

of mass 4kg is moving with speed 3m/s2 then the

kinetic energy of the particle is—.

Saten 1 Ihe corrent aphas

12J
O

MTHAOE Graret Quus MTHA04

= T 06 G4 PO 12 Ady 2
Gumatian ¢ 4 of 20

Vo ot Mharn

If force of magnitude 20N is applied to the particle and it covers a

distance of 3m in the same direction as that of applied force, then
the magnitude of work done on the particle is——.




In a conservative field of force, the total energy of a particle—
throughout the motion.

Ouestian # 8 of 20 st tave

Swtect the cotret apiion

remains constant

0 a——

varies
O

MTHADS Graret Quar MTHADS Dear Shart Tome 00 6 P08 12 0y

Ouestion # 14 of 29 " oo Seted

Which of the following is true for a force F to be conservative?

h

None of these




Quastion # 16 of 20

Select the correct option

O




Question £ 5 of 20 ( Stant thime 06 10 54 PWL 17 July 20 Totsl Marks |

If a particle of mass 4kg is in motion under the action
of variable Force F and is moving under velocity 3t*2,
then the force acting at time '2' seconds is -—--.




Question # 5 of 10 ( Start time: 03:33:19 PM, 06 December 2020 ) Total

The branch of mathematics which deals with the motion o
objects is known as

Select the correct option

dynamics

2 e
statics

O

fluid mechanics
o)

none of these
o)




MTH404:Quiz No. 1

Question # 4 of 10 ( Start time: 03:33:18 PM, 06 December 2020 )

The radial companent of acceleration 1s

Select the correct option

O

none of these

O

Question # 8 of 10 { Start time: 03:21:33 PM, 06 December 2020 )

if

T '_‘.’)
be the vedocity of the particls st time L then which of the following Is the acceleration of the particte at time 1?7

Select the correct option

O




F. - m(r ,-(.)?)

—

mlr(é]" - 7)

mir + r(")’)




(s \|Ww
‘ '“xl{.;nziwﬂ
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MTHAOL Grandt Quiz MTHEDL Owitz Start Time: D608 PM. 12 My 2020

Question £ 8 of 20 ( Srat tene 08 4P 12

If the velocity of the particle remains same throug

the motion, the slope of the space-time curve -,

Selewt the carret spten

Does not remain the same
O

varies
O

Remains the same
O )

None of these
O

Totsl Maiha

hout




If a particle is moving with zero acceleration and it starts with
velocity 10m/s, then the distance traveled in 5 seconds will be -




MTHADE Grand Ouer MTHADS

Question # § of 20 ( 2w 1

Force acting on a body can change its—.

kinetic energy

direction of motion

speed

all of the given
=




MTH404:Grand Quiz MTH404

uestion # 10 of 20 ( Start time: 08:10:40 PM, 12 July 2020)

If the velocity of a particle is given by

, then the acceleration of the particle at time "3' seconds will be —

Select the correct option

18




MTH404:Grand Quiz MTH404

Question # 13 of 20 ( Start time: 08:16:27 PM_ 12 July 2020)

Which of the following is true about the radial component of a force in polar coordinates?

Select the correct option

F,
o ——ret

O

F. m n“l"







MTHA0A Grand OQuiz MTHA04 Quiz Start Time 07 57 PM. 12 Ay

Question # 16 of 20 ( Staet tame 08 2313 P 12 Juty 2020) Total Marks

The maximum distance covered by the particle executing
simple harmonic motion in either side of mean position is
called as ——--.

Select the correct option

amplitude

SR

O

time period

O

frequency
o)

none of these
o)




MTHAOA Grand Ouez MTHADS

Question # 13 of 20 ( Start oo

The motion along a straight line is called

Select the correct option
circular motion
O

rectilinear motion
=

projectile motion

O

O

none of these
0




MTHA04 Grand Quiz MTHAOL

Question £ 11 of 20 ({ Start e

Select the correct option

O-




MTHE0E Grand Quiz MTHE04 Ouaiiz Slarl Time: D608 PM, 1T July 2000

Quaitien & 3 af 20 [ Siam time: 00047 FM, 17 July 2020 ) Tetal Maiks

If S is the system of particles which is in equilibrium,
then the sum of all forces on the system S is-—.

Select the corect opfion
undefined
o

very large
O

none of these
0




MTH404: Grand Quiz MTH404

Question # 9 of 20 [ Start time

06:23:05 PM, 12 July 2020 )

When the acceleration is a fu

Except

Select the commect option

O

nction of distance only, we may write

Mone of these




MTHA04 Coand Quiz MTHAO4 Quitz Start Time 0608 PM. 12 Jdy 2020

Quention # 14 of 20 { Saanm s 1 Lz 3 Total Marks

A bodty ol v ’ . i y 2 t y e

Selact the correct sption




MTHAD4: Grand Quiz MTH404

Question ¥ 12 of 20 | Start time: 062444 PM, 12 July 2020 )

The rate of work done to the particle is known as

Select the correct aption

power

O—

kinetic energy
O

momentum
O

none of these
O




Question 7 6 of 20 ( M -

If F is the central force, then the rate of change of angular
momentum Is

Baset | e cotrem ! aption

pOSIlIVG
O

2ero
) B not sure

negative

O

none of these
O

Made by Ashii



